10 9 8 7 6 5 4 3 2 1

b "A"———
o "B"4——
IlC"
-49 OPT. SCREW (WHERE APPLICABLE) ‘
* (WHERE APPLICABLE) ’ | a
() Wil Wil é@ Wil LN
— |- oo |1 . || - | — ‘ N
<> [ ] I:IDEI I:IHEI lg \?' |
i i 47 ¢ )
| e | | | e (G0
gl gl gl gl % P
@ — e — @
23 ' ‘ \‘
9.53 3.96 16.0 \ \ N
o—— 2 MOUNTING — \ {
375 (4) 156 HOLES 63 U
9.53 {
——TYP ———== -
375 7.9
—— ————TYP. 4 CIRCUITS SHOWN
31 FOR REFERENCE ONLY
[ U// [ f EAu}
_ le==l==lE A== s |
95 66
T S | K|
7 |
V ﬁ o e
> T T | b
i NOTES:
L JTJ 1. MATERIAL: SEE TABLE
0.81 1.57 % 2. FINISHES: SEE TABLE
— . TYP. 062 3. PRODUCT SPECIFICATION: NOT REQUIRED
.032 @ 4. DIMS ARE SHOWN IN MM/INCH
26 5. XX REFERS TO THE NUMBER OF CIRCUITS
6. ROHS COMPLIANT.
7 XX | SCREW #6-32, BHD, PHILL-SLOT SS-56 | STAINLESS STEEL | PASSIVATED
6 XX | SCRW&WSHR #6-32X.25 PANHD,PH-SL, -50| STEEL ZN, CLEAR CHROMATE
5 XX SCREW #6_32X250 BHD PHSLNl -49 BRASS NlCKEL PLATE D.‘I—,\EINSSBE/D‘:‘Y-:’:G CON'I'SFLIEIiINFORMé\él5%éEz’é%:;gg%{%gﬁfg\%%a@zﬁf;?ggl(;;;(-)rHNOLOGIES, LLC AND SHOULD NOT BE USiD WITHOUT WRITTEN PERMISSION
mm/IN 2:1 : m
4 XX | SCREW #6-32X.250 BHD PHSLZN STEEL ZN, CLEAR CHROMATE ENERAL TOLERANCES o ex
3 |2 |PLATEMTGNI BRASS NICKEL PLATE e o 7aer INS. PG WINTG ENDS
SPiAcEs | o005 | DRWN: RAVINR1 2024/06/05
2 XX TERM WW 6C SN'KT BRASS TlN PLATE 2PLACES |t 0.13 [t 0.01 S\Egg ggﬁ ;g;i;ggﬂg PRODUCT CUSTOMER DRAWING
1PLACE |t 03 |t INITIAL REVISION: DOCUMENT NUMBER DOC TYPE[DOC PART[REVISION
1 1 BARRIER TERMINAL STRIP POLYESTER (PBT) BLACK OP::ZESLA;TOL : — ng\g\‘ j;li%lﬁé\i ggggjgigi SD-38720-011 PSD| 001 | C1
|TEM QTY‘ DESCR'PT'ON MATERIAL FINlSH DRAFT WHERE APPLICABLE THIRD ANGLE PROJECTION DRAWING SERIES MATERIAL NUMBER CUSTOMER SHEET NUMBER
DOCUMENT STATUS | P1 | RELEASE DATE | 2024/08/13  06:11:35 | R @ £} | B-SIZE | 38720 | SEETABLE | GENERALMARKET | 1OF2
e 9 8 7 6 5 4 3 2 1




8 7 6 4 3 2 1
QTY DIM "A" DIM "B" DIM"C" DIM "D" MATERIAL # | MATERIAL # | MATERIAL #| MATERIAL #
CKTS MM INCH MM INCH MM INCH MM INCH STD. OPT. -49 OPT. -50 OPT. -56 OPT.
7 87.9 3.46 76.20 3.000 68.8 2.71 57.15 2.250 - 387205007 - -
8 97.4 3.84 85.73 3.375 78.3 3.08 66.68 2.625 - 387205008 - 387290490
9 106.9 4.21 95.25 3.750 87.8 3.46 76.20 3.000 - - 387205309 -
10 116.5 4.59 104.78 4.125 97.3 3.83 85.73 3.375 - 387205010 -- -
11 126.0 4.96 114.30 4.500 106.9 4.21 95.25 3.750 - 387205011 -- -
13 145.0 5.71 133.35 5.250 125.9 4.96 114.30 4.500 - 387205013 | 387205313 -
14 154.6 6.09 142.88 5.625 135.5 5.33 123.83 4.875 - - 387205314 -
15 164.1 6.46 152.40 6.000 145.0 5.71 133.35 5.250 - 387205015 - -
16 173.6 6.84 161.93 6.375 154.5 6.08 142.88 5.625 - -- 387205316 -
17 183.1 7.21 171.45 6.750 164.1 6.46 152.40 6.000 387204717 | 387205017 | 387205317 -
18 192.7 7.59 180.98 7.125 173.6 6.83 161.93 6.375 - 387205018 | 387205318 -
19 202.2 7.96 190.50 7.500 183.1 7.21 171.45 6.750 387204719 | 387205019 | 387205319 -
20 211.7 8.34 200.03 7.875 192.6 7.58 180.98 7.125 - 387205020 | 387205320 -
21 221.2 8.71 209.55 8.250 202.2 7.96 190.50 7.500 387204721 | 387205021 | 387205321 -
22 230.8 9.09 219.08 8.625 211.7 8.33 200.03 7.875 387204722 | 387205022 | 387205322 -
23 240.3 9.46 228.60 9.000 221.2 8.71 209.55 8.250 387204723 | 387205023 | 387205323 -
24 249.8 9.84 238.13 9.375 230.8 9.08 219.08 8.625 - - 387205324 -
25 259.3 10.21 247.65 9.750 240.3 9.46 228.60 9.000 387204725 - 387205325 -
26 268.9 10.59 257.18 10.125 249.8 9.83 238.13 9.375 -- 387205026 | 387205326 -
THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
N S e mol
GENERALTOLERAI-\ICES o ex
(UNLESS SPECIFIED)
MM INCH 9.53/.375 SR BTS
4 PLACES |: : ECNO: 793827 INS. PC W/MTG ENDS
S PLACES |k o005 | DRWN: RAVINR1 2024/06/05
2PLACES |: 013 |t 0.01 ,SEEF?; ggﬁ ﬁgﬁj@gﬂg PRODUCT CUSTOMER DRAWING
A ;Eiz; 93 INITIAL REVISION: BOGUMENT NUMBER DOC TYPE[DOC PARTIREVISION
e e Son| SD38T20011  [esoloot C
DRAFT WHERE APPLICABLE | THIRD ANGLE PROJECTION | DRAWNG SERES | WATERIALNOVBER CUSTOVER SHEETNOVBER
DOCUMENT STATUS | P1 | RELEASE DATE | 2024/08/13  06:11:35 | WITHN DIVENSIONS @ £ | B-SIZE | 38720 | SEETABLE | GENERALMARKET | 20F2

FORMAT: Eng-lega-master-to-prod-8
S 9 8 7 6 5 4 3 2 1



1. MATERIAL: SEE TABLE

2. FINISH: SEE TABLE

3. ELECTRICAL SPECS:
MAX VOLTAGE: 300V
MAX CURRENT: 13A (6-32 BINDING HD SCREW STD, -49 & -36 OPT>
MAX CURRENT: 23A (6-32 WIRE CLAMP SCREW -30 OPT)

4. WIRE RANGE: 22 TO 14 AWG FOR STD, -49 & -56 OPT
WIRE RANGE: 22 TO 12 AWG FOR STD, -30 OPT

_ 032
0.81

/c
SERIESj

SCREW TYPE j

TERMINAL STYLE

062
1.57

ENGINEERING NUMBER LEGEND

S XX~

/
[BLANK 47 STD TAIL LENGTH

13 12 11 10 9 7 6 5 ‘ 4 ‘ 3 2 1
PART NUMEBER DATA 3 A
CIRCUITS A IN Mm B IN Mmm C IN Mmm D IN Mmm
P 1.58 | 402 | 1125 [ 2858 | 83 211 | 375 | 952 ner 228 | |- C _
3 1.96 | 497 | 1500 | 3810 | 121 | 307 | .750 | 19.05 5.80
4 233 | 592 | 1.875 | 4763 | 158 | 402 | 1125 | 2858
5 271 | 687 | 2250 | 5715 | 196 | 49.7 | 1.500 | 38.10 ? = T
5 3.08 | 783 | 2625 | 6668 | 233 | 592 | 1.875 | 47.63 47 HK\{ {hﬁ }\H
7 3.46 | 87.8 | 3.000 | /620 | 271 | 688 | 2250 | 57.15 12.0 N l lp& J\
3 3.83 | 973 | 3375|8573 | 308 | /83 | 2.625 | 66.68 $ ) %
3 421 | 1068 | 3750 | 9525 | 3.46 | 87.8 | 3.000 | 76.20
10 458 | 116.4 | 4125 |[104.78| 3.83 | 973 | 3.375 | 85.73
11 496 | 1259 | 4500 [114.30 | 421 | 1069 | 3.750 | 95.25 jer 375 | | o
2 5.33 | 135.4 | 4.875 |123.83| 458 | 116.4 | 4.125 | 104.78 9.53
13 571 | 1449 | 5250 |133.35| 496 | 1259 | 4.500 | 114.30
14 6.08 | 1545 | 5.625 |142.88| 533 | 135.4 | 4875 |123.83 B B -
15 6.46 | 164.0 | 6.000 |[152.40| 5.71 | 1450 | 5.250 |133.35
16 6.83 | 1735 | 6375 |161.93| 6.08 | 154.5 | 5.625 |142.88 REF. -50 OPT SHOWN
17 721 | 1830 | 6750 |1/1.45| 6.46 | 164.0 | 6.000 | 152.40
18 758 | 1926 | 7.125 [18098| 6.83 | 1735 | 6.375 | 161.93 0 0 0
19 7.96 | 2021 | 7.500 [19050| 721 | 1831 | 6.750 | 171.45 @%%i
20 8.33 | 211.6 | 7.875 | 20003 | 758 | 192.6 | 7.125 | 180.98 ¢ p——||[l==T P —
21 8.71 | 2211 | 8250 |209.55| 796 | 2021 | 7.500 | 190.50 34
PP 9.08 | 230.7 | 8625 [219.08| 833 | 211.6 | 7.875 | 200.03 8.6
23 9.46 | 240.2 | 9.000 |228.60| 871 | 2212 | 8250 |209.55 f
24 9.83 | 249.7 | 9.375 |238.13| 9.08 | 230.7 | 8.625 | 219.08
25 10.21 | 259.2 | 9.750 [247.65] 9.46 | 240.2 | 9.000 |228.60 7 10
26 10.58 | 268.8 [ 10.125 [257.18] 9.83 | 249.7 | 9.375 |238.13 %2% RN 5 337
NOTES: @/

5. SCREW TIGHTENING TORQUE: 12 IN LBS. NO. OF CIRCUITS —oor 24 TAIL LENGTH

6. WIRE STRIP: 5/16 (8mm) —/o0 /0 TAIL LENGTH

7. OPERATING TEMP: 110°F A — -81: .81 TAIL LENGTH

8, PRODUCT SPEC: PS-38710-001 o émgg 1 BLaTE

9, PART IS RoHS COMPLIANT S0 SCREV /L AMP \ASHER

10, XX EQUALS NUMBER OF CIRCUITS _56: ST, STEFL SCREW
7 XX SCREW (=56 OPT) ST. STEEL | PASSIVATED [ [qUALITY| GENERAL TOLERANCES NS ST ceAlE U, © O THRDANGLE
6 XX SCREW/CLAMP WASHER (-50 OPT) | STEEL ZINC PLATED S | = |SyMBOL (UNLESS SPECIFIED) IN/MM INCH PROJECTION

% uQ) mm |NCH DRAWN BY DATE TITLE
5 XX SCREW (=49 OPT) BRASS NICKEL PLATED 2 Z 5v=0 2 PLACES| <+ o RSTONE 2015/08/03 BARRIER TERMINAL STRIP
4 XX SCREW (STD OPT) STEEL ZINC PLATED i 3 3 PLACES| *— 005 |CHECKEDBY  DATE WIRE WRAP
L Iwzk|E W=O 2 PLACES| #0.13 | +.01 |BARDEN —
3 2 MOUNTING PLATE BRASS NICKEL PLATED W =Za848 TPLACE | 203 = S FPROVED BV DATE —
B oL <2° = — molex MOLEX INCORPORATED
P XX TERMINAL, WIRE WRAP BRASS TIN PLATED Lo ANGULAR +1 BRUPERT  2015/08/12) \ "7
d Z D m DRAFT WHERE MATERIAL NO. DOCUMENT NO. SHEET NO.
1 1 BARRIFR STRIP, INSULATED PBT BLACK Z==%a APPLICABLE — SD-38729-078 10F 1
WwAao< MUST REMAIN SIZE THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX

LTEM | QTY DESCRIPTION MATERIAL FINISH A @ - WITHIN D||V|ENS|ONS C ~ INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

13 12 11 10 9 ‘ 7 ‘ 6 5 4 3 2 1




